
SIZE

A4

DRAWING

 NUMBER

023-82260

 

REV.

ISS.

0

DO NOT SCALE

THIRD ANGLE PROJECTION IF IN DOUBT ASK

UNLESS OTHERWISE                         TOLERANCES: - 0 DECIMAL PLACES 0.5    

      STATED: -                                                         1 DECIMAL PLACES  0.2 

                                                                              2 DECIMAL PLACES 0.1

DIMENSIONS ARE IN M.M                                                       ANGULAR 1

DRAWING

 NUMBER

REV.

ISS.

023-82260 0

SCALE

SHEET

1  OF 1 

MATERIAL/FINISH

THIS DRAWING IS THE PROPERTY OF

NEWALL MEASUREMENT SYSTEMS LTD.

THE INFORMATION THERON MAY NOT BE COPIED OR USED

WITHOUT WRITTEN PERMISSION

Leicester

England

TITLE

600-90800 Kit Contents

DRAWN

DATE

chris.wh

13/07/2016
REV.ISS. DATE C.N.No ALTERATION

To mount 1 Microsyn 2G, Microsyn LT, DMG OR MHG Encoder 

Kit Contents 

Mill Drill Quill Kit Bracket Kit  

Part No: 600-90800

N/A

N/A

086-80545, 5.3 x 18 SPACERS (4)

295-00250 MILL DRILL QUILL BRACKET A (1)

M3 x 12 CAP HEAD SCREW (2)

M3 x 12 HEX HEAD SCREW (2)

294-35610, SPACER WASHER (3)

295-00255, MILL DRILL QUILL BRACKET B (1)

M4 x 12 GRUB SCREWS (4)

M4 x 25 CAP HEAD SCREW (2)

M4 NUT (2)

M4 FLAT WASHER (2)

10/24" x 1.25" CAP HEAD SCREW (4)

294-34200, SUPPORT PILLAR LONG (2)

294-34240, SCALE LINK MICROSYN (1)

294-39380, CF END SUPPORT MICROSYN (1) 

M6 X 20 CAP HEAD SCREWS (2)

M6 FLAT WASHER (2)


